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(Ehel wiokel, %
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g = x5 B SES CIEEE)
A 3,069,005 d©l& = 2,881,385 Hlg& 3,083,470 6.5 A0.5
r S 2,750,495 89.6 = 2,571,630 89.2 2,768,038 7.0 A0.6
HH2 234,906 7.7 217,500 7.5 217,151 8.0 8.2
AH L 228,586 7.4 211,554 7.3 211,766 8.1 7.9
7] & 6,320 0.2 5,946 0.2 5,385 6.3 17.4
X 2 83,604 2.7 92,255 3.2 98,281 A9.4 | A14.9
O ks A| (chel - wiorel 9
2008 T SLE(%)
- 2009 &
g = x5 B SES CIREEE)
A 2,662,000 ©l8 = 2,459,700 & @ 2,609,325 8.2 2.0
o 2,347,749 882 2,154,037 87.6 2,297,966 9.0 2.2
HHZ 230,647 8.7 213,408 8.7 213,078 8.1 8.2
AH L 224,459 8.4 207,600 8.4 207,813 8.1 8.0
7] & 6,188 0.2 5,808 0.2 5,265 6.5 17.5
WSS 83,604 3.1 92,255 3.8 98,281 A9.4 | A14.9
O SE=A (Ebsl - wiorel o
2008H = UE(%)
T 2009 =
g = x5 B SES= ETIE T
407,005 ¢Hlg 421,685 ¢Hlg 474,145 A3.5 | A14.2
y 402,746 99.0 417,593 99.0 470,072 A3.6 | A14.3
HHE2 4259 1.0 4,092 1.0 4,073 41 4.6
Qe 4,127 1.0 3,954 0.9 3,953 4.4 4.4
7] &7 n 132 0.0 138 0.0 120 A4.3 10.0
X & - - - - - - -
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4, 233 2k 1,509 1,279 A 230 A 15.2
5 A4S 2,142 2,743 601 28.0
6. AIE| S X| 6,583 7,299 716 10.9
7. 524H 412 425 13 3.2
8. SEsl gLt 3,884 4,107 223 5.7
9. M- ZAT|A 664 940 276 41.6
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o = 20084 = S4E(%
T = 20091 = o = B EErfe| | = ECfu|
A 3,069,005 H|E& | 2,881,385 H|& | 3,083,470 H|ES 6.5 N0.5
Utz Do 392,149 | 12.8 409,177 | 14.2 397,333 | 12.9 A4.2 A1.3
CAHL A AT 5,199 0.2 7,082 0.2 8,391 0.3 | A26.6 | A38.0
< A A A A 348,458  11.4 363,783 | 12.6 345,096 | 11.2 N42 1.0
A= 834 0.0 789 0.0 840 0.0 5.7 N0.7
- dRkeA 37,658 1.2 37,523 1.3 43,006 1.4 04 | ~A12.4
S &AM 2 obN 93,978 3.1 90,752 3.1 90,251 2.9 3.6 41
< A AT 9 93,978 3.1 90,752 3.1 90,251 2.9 3.6 4.1
mE=; 169,885 5.5 164,240 5.7 175,522 5.7 3.4 A3.2
ol xFSuS 158,137 5.2 151,439 5.3 163,045 5.3 4.4 A3.0
A RTA <Y 11,748 0.4 12,801 0.4 12,477 0.4 A8.2 A5.8
=obgl zhat 127,942 4.2 150,844 5.2 187,562 6.1 A15.2 | A31.8
c - shde 24,181 0.8 16,760 0.6 18,899 0.6 44.3 27.9
-3 44,198 1.4 47,393 1.6 56,376 1.8 ABT | A22.3
<A 44,732 1.5 80,911 2.8 93,840 3.0 | A44.7 | A52.3
- 3HA 14,831 0.5 5,780 0.2 17,947 0.6 156.6 | A17.4
stAHES 274,265 8.9 214,175 7.4 215,575 7.0 28.1 27.2
s nh =R | 216,832 7.1 164,623 5.7 170,626 5.5 31.7 27.1
- A7 & 27,914 0.9 27,040 0.9 22,065 0.7 3.2 26.5
-7 5,567 0.2 243 0.0 514 0.0 | 2,190.9 983.1
P | 13,902 0.5 10,497 0.4 10,466 0.3 32.4 32.8
g 4,640 0.2 6,193 0.2 6,483 0.2 | A25.1 | ~A28.4
-3 RS Yl 5,410 0.2 5,579 0.2 5,421 0.2 A 3.0 A0.2
NP 729,895 23.8 658,299 | 22.8 708,088 @ 23.0 10.9 3.1
7 2SR A 355,784 | 11.6 363,314 | 12.6 387,920 | 12.6 A2.1 A8.3
CFH AT A Y 61,428 2.0 57,673 2.0 60,122 1.9 6.5 2.2
RS TSH O 112,797 3.7 94,105 3.3 99,645 3.2 19.9 13.2
A 183,033 6.0 133,277 4.6 151,580 4.9 37.3 20.8
e 2,558 0.1 2,040 0.1 2,670 0.1 25.4 A42
CHE 260 0.0 462 0.0 535 0.0 | 2437 | A51.4
- TE 6,660 0.2 7,428 0.3 5,616 0.2 | 210.3 18.6
C ALS] A Gt 7,375 0.2 - - - - 100.0 100.0
2A 42,502 1.4 41,189 1.4 50,806 1.6 32 | A16.3
cH7 8 42,344 1.4 41,135 1.4 50,757 1.6 2.9 A16.6
< A E ] ok 158 0.0 54 0.0 49 0.0 192.6 222.4
S Elol b=k 410,654 @ 13.4 388,392 | 13.5 435,693 | 14.1 5.7 A5.7
cEGEE 243,426 7.9 222,275 7.7 244,280 7.9 9.5 0.3
A -AakE 126,744 4.1 114,747 4.0 118,876 3.9 10.5 6.6
I e e ke 40,484 1.3 51,370 1.8 72,537 24 A21.2 | A44.2
A=Y 94,004 3.1 66,444 2.3 110,667 3.6 415 | A15.1
A EEAY 14,569 0.5 9,062 0.3 14,087 0.5 60.8 34
AR 7IEAY 3,642 0.1 3,787 0.1 3,580 0.1 N3.8 1.7
G EAfA] 774 0.0 1,783 0.1 4,223 0.1 | A56.6 | A8L.7
AR & =3} 64,593 2.1 44,896 1.6 66,448 2.2 43.9 N2.8
o Y A H =}l 10,426 0.3 6,916 0.2 22,329 0.7 50.8 | A53.3
&N E 237,633 7.7 191,405 6.6 224,582 7.3 24.2 5.8
ST 226,618 7.4 181,932 6.3 210,536 6.8 24.6 7.6
cHFaE-E5 57 11,015 0.4 9,473 0.3 14,046 0.5 16.3 | ~21.6
= E X[ 47|t 233,465 7.6 256,889 8.9 264,351 8.6 A9.1 A11.7
A 62,998 2.1 53,689 1.9 54,773 1.8 17.3 15.0
A GHEA| 170,467 5.6 203,200 7.1 209,578 6.8 Al6.1  A18.7
st = 2,090 0.1 1,140 0.0 3,135 0.1 83.3 | A33.3
T |EATA Y 2,090 0.1 1,140 0.0 3,135 0.1 83.3 | A33.3
of H|H| 25,636 0.8 30,939 1.1 2,754 01 | A17A1 830.9
7| Et 234,907 7.7 217,500 7.5 217,151 7.0 8.0 8.2
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A 2,662,000  H|g | 2,459,700  H|g & 2,609,325 | H|S 8.2 2.0
btz asly 180,629 6.8 186,787 7.6 149,053 5.7 A3.3 21.2
AH LM AT 5,199 0.2 7,082 0.3 8,391 0.3 | A26.6 | A38.0
ABAA-ARA L 136,938 5.1 141,393 5.7 96,816 3.7 N3.2 41.4
AN =5 834 0.0 789 0.0 840 0.0 5.7 N0.7
Sy 37,658 1.4 37,523 1.5 43,006 1.6 04  ~l124
=32t 93,978 3.5 90,752 3.7 90,251 3.5 3.6 41
- AR A R 93,978 3.5 90,752 3.7 90,251 3.5 3.6 4.1
= 149,759 5.6 150,427 6.1 157,322 6.0 A0.4 A48
Cfold xFS S 142,169 5.3 142,305 5.8 149,518 5.7 A0.1 A4.9
ASRTA - 7,590 0.3 8,122 0.3 7,804 0.3 N6B.6 N2.T
=t 2 127,942 4.8 150,844 6.1 187,562 7.2 | A15.2 | A31.8
-1 24,181 0.9 16,760 0.7 18,899 0.7 44.3 27.9
R 44,198 1.7 47,393 1.9 56,876 2.2 ABT | A22.3
<A 44,732 1.7 80,911 3.3 93,840 3.6 | ~A44.7 | AB2.3
- 3A 14,831 0.6 5,780 0.2 17,947 0.7 156.6 | A17.4
AR S 274,265 10.3 214,175 8.7 215,575 8.3 28.1 27.2
o\ S| 216,832 8.1 164,623 6.7 170,626 6.5 31.7 27.1
- H7 = 27,914 1.0 27,040 1.1 22,065 0.8 3.2 26.5
- 7] 5,567 0.2 243 0.0 514 0.0 1 2,190.9 983.1
- Ak 13,902 0.5 10,497 0.4 10,466 0.4 32.4 32.8
B 4,640 0.2 6,193 0.3 6,483 0.2 | A25.1 | ~284
AR5 Yl 5,410 0.2 5,579 0.2 5,421 0.2 A3.0 A0.2
NN 558,795 | 21.0 476,909 19.4 504,496 @ 19.3 17.2 10.8
C 7| =N TR A 184,684 6.9 181,924 7.4 184,328 7.1 1.5 0.2
CFHAZTAY 61,428 2.3 57,673 2.3 60,122 2.3 6.5 2.2
c RS TS A 112,797 4.2 94,105 3.8 99,645 3.8 19.9 13.2
QA ad 183,033 6.9 133,277 5.4 151,580 5.8 37.3 20.8
e 2,558 0.1 2,040 0.1 2,670 0.1 25.4 N
CRE 260 0.0 462 0.0 535 0.0 | A43.7 | 2514
- Tg 6,660 0.3 7,428 0.3 5,616 0.2 | ~10.3 18.6
R e o kel 7,375 0.3 - - - - 100.0 100.0
2 42 502 1.6 41,189 1.7 50,806 1.9 3.2 | A16.3
-HRAR 42,344 1.6 41,135 1.7 50,757 1.9 29 A16.6
b Al 158 0.0 54 0.0 49 0.0 192.6 222.4
S B ol 2kt 410,654 | 15.4 388,392 @ 15.8 435,693 | 16.7 5.7 A5.7
EYEE 243,426 9.1 222,275 9.0 244,280 9.4 9.5 0.3
T R 126,744 4.8 114,747 4.7 118,876 4.6 10.5 6.6
A i e s 40,484 1.5 51,370 2.1 72,537 2.8 | A21.2 | A44.2
MA-FAT| S 94,004 3.5 66,444 2.7 110,667 4.2 415 | A15.1
A E A 14,569 0.5 9,062 0.4 14,087 0.5 60.8 3.4
AR 7EA9 3,642 0.1 3,787 0.2 3,580 0.1 N3.8 1.7
- TR EAA 774 0.0 1,783 0.1 4,223 0.2 | A56.6 | A81.7
R AR 1 64,593 2.4 44,896 1.8 66,448 2.5 43.9 N2.8
L B R P e L s 10,426 0.4 6,916 0.3 22,329 0.9 50.8 | A53.3
M= 237,633 8.9 191,405 7.8 224,582 8.6 24.2 5.8
= 226,618 8.5 181,932 7.4 210,536 8.1 24.6 7.6
Y ulE =/ 7] 11,015 0.4 9,473 0.4 14,046 0.5 16.3 | ~21.6
= E X[yt 233,465 8.8 256,889 @ 10.4 264,351 10.1 A9.1 A11.7
R 62,998 2.4 53,689 2.2 54,773 2.1 17.3 15.0
F A EA] 170,467 6.4 203,200 8.3 209,578 80 Al6.1 2187
st s 2,090 0.1 1,140 0.0 3,135 0.1 83.3 | A33.3
- AT EATA Y 2,090 0.1 1,140 0.0 3,135 0.1 83.3 | A33.3
ofjH|H] 25,636 1.0 30,939 1.3 2,754 01 | A17.1 830.9
7| Ef 230,648 8.7 213,408 8.7 213,078 8.2 8.1 8.2




B SE3ACIEHSIH)

7 & 200941 & oot —

A 407,005 | H|g 421,685 | H|S 474,145 | H|8
Aot Sy 211,520 = 52.0 222,390  52.7 248,280 @ 52.4
- APG A A A A 211,520 | 52.0 222,390 | 52.7 248,280 = 52.4
mE=; 20,126 = 4.9 13,813 3.3 18,200 3.8
FoldxE S 15,968 3.9 9,134 2.2 13,527 2.9
A A 4,158 1.0 4,679 1.1 4,673 1.0
ArE S X| 171,100 42.0 181,390 @ 43.0 203,592  42.9
N ZRERG 171,100 | 42.0 181,390 | 43.0 203,592 = 42.9
7| et 4,259 1.0 4,092 1.0 4,073 0.9

- FAEHUEE Y LTS 4,158 (49.4%), 716 4,259 7H(50.6%)
- A EHVIEEY AR EARE / 7 2R EATOR 171,100 7] (100%)
- S EAFEFED L W/ FolE2F TS 15,9689+ (100%)

- A7 Y ity / A A AL 211,520 9 (100%)




(EHe]: ofgl)
20,000
02008 =
o Chx
15,000 13,991 —_—
9,592
10,000
5,000
1,811 1,826
878 902 1219 o
T 1 [ [ 1 ——
ol7i| 74| ZAAo| A A2XE  SAYEX  EAHAE LhEHe  ofld|b| 27| Et
[ &S MA 2 ]
(2he] - ofgl %)
T =2 2008 0f A+ 2009 of A+ = ZhoH ErAr =
A 28,814 30,690 1,876 6.5
100 olz4d| 1,724 1,811 87 5.0
200 SH| 813 878 65 8.0
300 ZAto|X 8,330 9,592 1,262 15.2
400 AHEX| & 13,345 13,991 646 4.8
500 AU EX} 829 902 73 8.8
600 2 x| 2 1,390 1,213 A 177 A12.7
700 LH 74 EH 1,749 1,826 77 4.4
800 ofl5[H| 7| E} 634 477 A 157 A 24.8
% 2008 %, 20099 % x4 712



B SZ(YLH+EY)

(EH9| - sokel %
T = 20004 = oz 20Tas 5 = gzc?fiéw
A 3,069,005 H|S 2,881,385 H|& 3,083,470 H|S 6.5 A0.5
100 Qlz48| 181,076 = 5.9 172,405 @ 6.0 172,376 = 5.6 5.0 5.0
101 2170 181,076 5.9 172,405 6.0 172,376 5.6 5.0 5.0
200 2744| 87,757 | 2.9 81,289 2.8 84,094 @ 2.7 8.0 4.4
201 Lur-E-<gn) 44,568 1.5 36,790 1.3 38,895 1.3 21.1 14.6
202 o] 9,934 0.3 9,757 0.3 8,662 0.3 1.8 14.7
203 fH-Fx1] 3,073 0.1 3,037 0.1 2,646 0.1 1.2 16.1
204 AF-Fe 7] 13,710 0.4 13,469 0.5 13,501 0.4 1.8 1.5
205 2] g1 2,695 0.1 2,690 0.1 2,693 0.1 0.2 0.1
206 A &) 7,490 0.2 5,417 0.2 8,036 0.3 38.3 NB.8
207 A5/ 6,287 0.2 10,129 0.4 9,661 0.3 2379  A34.9
300 ZAto| X 959,249 | 31.3 832,947 | 28.9 871,542 | 28.3 15.2 10.1
301 Aubr A 11,084 0.4 11,750 0.4 24,365 0.8 AB7 | AB4S
303 ¥4 15,647 0.5 13,272 0.5 13,136 0.4 17.9 19.1
304 AFFHHS 26,541 0.9 20,449 0.7 20,745 0.7 29.8 27.9
305 M=% 30 0.0 50 0.0 10 0.0  ~240.0 @ 200.0
306 =9+ 19,912 0.6 18,254 0.6 33,906 1.1 9.1 | ~41.3
307 RzkelH 68,942 2.2 58,299 2.0 72,983 2.4 18.3 A5.5
308 A &4 501 A 785,028 | 25.6 670,844 = 23.3 666,122  21.6 17.0 17.9
309 3714 AdHES - - - - - - - -
310 =+&jo] A 505 0.0 775 0.0 741 0.0 | A34.8 | A31.8
311 = 5ol A 3k 31,560 1.0 39,254 1.4 39,534 1.3 | A19.6 | A20.2
400 XHEX| & 1,399,123 |« 45.6 = 1,334,486 46.3 @ 1,487,979 48.3 4.8 AB.0
401 Al v gl Rty 296,518 9.7 247,172 8.6 271,607 8.8 20.0 9.2
402 W17kAE 0] 26,142 0.9 31,120 1.1 33,629 1.1 | A16.0 | A22.3
403 ARA A 52 0] 7] 1,064,316  34.7 | 1,038,948 36.1 1,162,835 37.7 2.4 N85
405 AH4HF 51 12,132 0.4 17,226 0.6 19,888 0.6 £229.6 | A39.0
406 7]EpAFEo] A - - - - - - - -
407 =] Ao A 15 0.0 20 0.0 20 0.0 | A25.0 | A250
500 SXIY &X} 90,160 & 2.9 82,928 @ 2.9 84,116 = 2.7 8.7 7.2
501 &A 90,160 2.9 82,928 2.9 84,116 2.7 8.7 7.2
600 E XY 2 121,317 | 4.0 139,000 4.8 139,000 | 4.5 | A12.7 | A12.7
601 2l F Y9243 121,317 4.0 139,000 4.8 139,000 45 | A12.7 0 A127
700 LHE 24 182,617 | 6.0 174,905 @ 6.1 184,438 6.0 4.4 A1.0
701 7NEF AR E T 19,044 0.6 21,043 0.7 25,864 0.8 A95 | A26.4
702 V19 AEF 14,064 0.5 16,056 0.6 15,359 05 | Al2.4 N84
703 AHH SRS AN ET | 141,227 4.6 135,948 4.7 141,357 4.6 3.9 A0.1
705 A FLE Y 8,282 0.3 1,858 0.1 1,858 0.1 3457 3457
800 of|H|H| 27| E} 47,706 1.6 63,425 &= 2.2 59,925 | 1.9 | A24.8 | A20.4
801 <] 47,706 1.6 63,252 2.2 58,129 1.9 | A246 @ Al7.9
802 WH3k= 7] E} - - 173 0.0 1,796 0.1 A100.0 |A100.0




O ks

(Stel - wHakel %
B ZUS(%

T = 20004 = o = = 5 = EET gz(gmm

A 2,662,000 H|8 2,459,700 H|8& 2,609,325 H|S 8.2 2.0

100 2l Z4H| 177,234 6.7 168,709 6.9 168,689 6.5 5.1 5.1
101 2171] 177,234 6.7 168,709 6.9 168,689 6.5 5.1 5.1
200 E714| 84,516 3.2 77,957 3.2 80,970 3.1 8.4 4.4
201 dukEdy 41,910 1.6 33,899 1.4 36,157 1.4 23.6 15.9
202 o] 9,789 0.4 9,613 0.4 8,551 0.3 1.8 14.5
203 3] 3,025 0.1 2,989 0.1 2,602 0.1 1.2 16.3
204 A F-FP 7| 13,568 0.5 13,327 0.5 13,359 0.5 1.8 1.6
205 2] 3] ] 2,695 0.1 2,690 0.1 2,693 0.1 0.2 0.1
206 A =1 7,480 0.3 5,407 0.2 8,027 0.3 38.3 N6.8
207 A7) 6,049 0.2 10,032 0.4 9,581 0.4 | A39.7 | A36.9
300 ZAto|N 933,333 | 35.1 806,970 @ 32.8 841,052 322 15.7 11.0
301 LutR A 10,554 0.4 11,249 0.5 23,879 0.9 AB.2 | A55.8
303 £ 15,604 0.6 13,229 0.5 13,093 0.5 18.0 19.2
304 AFHEE5 26,436 1.0 20,370 0.8 20,666 0.8 29.8 27.9
305 W= 30 0.0 50 0.0 10 0.0 | ~40.0 | 200.0
306 EAF 19,912 0.7 18,254 0.7 33,906 1.3 9.1 A41.3
307 RzkelH 68,757 2.6 58,111 2.4 72,585 2.8 18.3 N5.3
308 AR A 5ol % 774,212 | 29.1 668,298 @ 27.2 659,258 = 25.3 15.8 17.4
309 79 AEAET - - - - - - - -
310 = 9jo]d 505 0.0 775 0.0 741 0.0 | A34.8 | A31.8
311 2S5 o] A8 17,323 0.7 16,634 0.7 16,914 0.6 4.1 2.4
400 RHEX| & 1,231,014  46.2 1,154,629 @ 46.9 1,286,019 49.3 6.6 A4.3
401 Aldu] gl Ry 296,059 @ 11.1 246,138  10.0 270,654 | 10.4 20.3 9.4
402 WZEAFL o] A 26,142 1.0 31,120 1.3 33,629 1.3 | A16.0 | A223
403 AR A F A o] H 897,045 @ 33.7 860,378  35.0 962,051 = 36.9 4.3 N6.8
405 AHAHF 51 11,753 0.4 16,973 0.7 19,665 0.8 | A30.8 | A40.2
406 7| E}AFE o] A - - - - - - - -
407 =& AFE ol A 15 0.0 20 0.0 20 0.0 | A25.0 | A250
500 8XtY EX} 8,160 0.3 8,928 0.4 7,116 0.3 N8.6 14.7
501 §AH+ 8,160 0.3 8,928 0.4 7.116 0.3 N8.6 14.7
600 22X A 2 24,890 0.9 36,490 1.5 36,490 1.4 | A31.8 | A31.8
601 AL = L3 24,890 0.9 36,490 1.5 36,490 14 2318 | A31.8
700 LHE7 ] 177,217 6.7 174,905 7.1 184,438 7.1 1.3 A3.9
701 7EF AR E 19,044 0.7 21,043 0.9 25,864 1.0 AN95 | A26.4
702 71FAEF 14,064 0.5 16,056 0.7 15,359 06 ~12.4 N84
703 MR EHS| AMET | 135,827 5.1 135,948 5.5 141,357 5.4 A0.1 A3.9
705 dFad e 8,282 0.3 1,858 0.1 1,858 0.1 | 345.7 | 3457
800 oflH[H| 27| E} 25,636 1.0 31,112 1.3 4,551 0.2 | A17.6 | 463.3
801 o 1] ] 25,636 1.0 30,939 1.3 2,755 0.1  ~17.1 830.5
802 WH3k= 7] E} - - 173 0.0 1,796 0.1 A100.0 |A100.0




O SEaA

HE SHE(%
T g 20094 & o o= 2000 3 = FE gffsl/%)tHul
A 407,005 H|E 421,685 H|g 474,145 | H|8 A3.5 | Al42
100 Q1z4H| 3,842 0.9 3,696 0.9 3,687 0.8 4.0 4.2
101 91714 3,842 0.9 3,696 0.9 3,687 0.8 4.0 4.2
200 74| 3,241 0.8 3,332 0.8 3,124 0.7 N2.7 3.7
201 dukEgH 2,658 0.7 2,891 0.7 2,738 0.6 A8.1 A2.9
202 o] 145 0.0 144 0.0 111 0.0 0.7 30.6
203 4F-F3| 48 0.0 48 0.0 44 0.0 0.0 9.1
204 27| 142 0.0 142 0.0 142 0.0 0.0 0.0
205 <131 - - - - - - - -
206 A 59 10 0.0 10 0.0 9 0.0 0.0 11.1
207 A7 238 0.1 97 0.0 80 0.0 | 145.4 197.5
300 20| A 25,916 6.4 25,977 6.2 30,490 6.4 | A20.2 | A15.0
301 AR A 530 0.1 501 0.1 486 0.1 5.8 9.1
303 ¥AF 43 0.0 43 0.0 43 0.0 0.0 0.0
304 AFFFEs 105 0.0 79 0.0 79 0.0 32.9 32.9
305 M=% - - - - - - - -
306 EAF - - - - - - - -
307 W1zkel ™ 185 0.0 188 0.0 398 0.1 A1.6 | AB35
308 AR A 5ol 7 10,816 2.7 2,546 0.6 6,864 1.4 3248 57.6
309 37198 A= - - - - - - - -
310 =efold - - - - - - - -
311 2k = ol A 3t 14,237 3.5 22,620 5.4 22,620 4.8 | A37.1 | A37.1
400 AHEX| &= 168,109  41.3 179,857  42.7 201,960 42.6 A6.5 | A16.8
401 Al v Bl gim 459 0.1 1,034 0.2 953 0.2 | A55.6 | A51.8
402 7Aoo A - - - - - - -
403 AR A 5 A o] 167,271 | 41.1 178,570 = 42.3 200,784 = 42.3 AB.3 | A16.7
405 AAHH 54| 379 0.1 253 0.1 223 0.0 49.8 70.0
406 71 EFAFE o] A - - - - - - - -
407 =& AFEo] A - - - - - - - -
500 AL EX} 82,000 @ 20.1 74,000 | 17.5 77,000 | 16.2 10.8 6.5
501 g4+ 82,000 | 20.1 74,000 | 17.5 77,000 | 16.2 10.8 6.5
600 E XA 2 96,427  23.7 102,510 24.3 102,510 21.6 A5.9 A5.9
601 2tg=H =33t 96,427 | 23.7 102,510 | 24.3 102,510 | 21.6 A5.9 A5.9
700 L7 5,400 1.3 - - - - 0.0 0.0
701 71EFS AR E T - - - - - - - -
702 7lHAET - - - - - - - -
703 AEH EEI| AHEF 5,400 1.3 - - - - | 100.0 100.0
705 dTa et d - - - - - - - -
800 ofld|H| 27| E} 22,070 5.4 32,313 7 55,374 | 11.7 | A31.7 | A60.1
801 < u]H] 22,070 5.4 32,313 7.7 55,374 | 11.7 = A31.7  A60.1
802 Wk 7] e} - - - - - - - -




[ ZIEFSE (A ]

(Ehel - wHoral, %

e =72 (9
- 20094 = o x 200814 = x = ErijuT g7;<|/(-;:,‘-|:Hu|
A 195,485 | H|& 199,295 | H|E 225,865 H|E A1.9 | A13.5
100 ¢lZ1d| 3,842 2.0 3,696 1.9 3,687 1.6 4.0 4.2
101 1744] 3,842 2.0 3,696 1.9 3,687 1.6 4.0 4.2
200 =7244| 3,209 1.6 3,300 1.7 3,092 1.4 N2.8 3.8
201 ¢k v 2,638 1.3 2,871 1.4 2,718 1.2 A8.1 N2.9
202 oy 138 0.1 137 0.1 104 0.0 0.7 32.7
203 4FF3H| 43 0.0 43 0.0 39 0.0 0.0 10.3
204 AT 7| 142 0.1 142 0.1 142 0.1 0.0 0.0
205 &3]y - - - - - - - -
206 A =1 10 0.0 10 0.0 9 0.0 0.0 11.1
207 A7 238 0.1 97 0.0 80 0.0 1454 197.5
300 4 &H0|A 11,679 6.0 3,357 1.7 7,870 8.8 247.9 48.4
301 It A= 530 0.3 501 0.3 486 0.2 5.8 9.1
303 ZA+ 43 0.0 43 0.0 43 0.0 0.0 0.0
304 Aeidas 105 0.1 79 0.0 79 0.0 32.9 32.9
305 M=% - - - - - - - -
306 A+ - - - - - - - -
307 H1zkol ™ 185 0.1 188 0.1 398 0.2 A1.6 | AB3.5
308 AA| A G o] H 10,816 5.5 2,546 1.3 6,864 3.0 324.8 57.6
309 379 AEAET - - - - - -
310 =¢]o]d - - - - - - - -
311 A ol A3 - - - - - - - -
400 XtEX|E 168,109 | 86.0 179,857 | 90.2 201,960 @ 89.4 A6.5 | A16.8
401 A1 8] E Fg)n] 459 0.2 1,034 0.5 953 0.4 | A55.6 | A51.8
402 R 7kALEo] A - - - - - - - -
403 AR A F AL o] A 167,271 | 85.6 178,570 | 89.6 200,784 | 88.9 N6.3 | A16.7
405 AAEH SH| 379 0.2 253 0.1 223 0.1 49.8 70.0
406 71EpAHE o] - - - - - - - -
407 = ALl - - - - - - - -
500 AL E X} = = = = = = = =
501 §A= - - - - - - - -
600 EX A< = = = = = = = =
601 AP =¥ =733 - - - - - - - -
700 LHFHzH 5,400 2.8 = = = = = =
701 7TebS| AR E=F - - - - - - - -
702 71w HES - - - - - - - -
703 WEHEHI AT EF 5,400 2.8 - - - - - -
705 ol adEads - - - - - - -
800 oflH|H| 7| E} 3,246 1.7 9,085 4.6 9,256 41 | A64.3 | A64.9
801 fu]H] 3,246 1.7 9,085 4.6 9,256 4.1 | A64.3 | ~A64.9
802 WH3k= 7] E} - - - - - -
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20094 =

20084

o =

x =
S

A

211,520

222,390

248,280

100 21|

101 217 H]

200 2744|

32

32

32

201 Irkg-<gn]
202 o]

203 4FF3H|
204 A -G A0
205 2] 3] 7]

206 A &1

207 A7) n]

20
7
5

20
7
5

20
7
5

300 Z&o|H

22,620

301 LWt A
303 =%

311 2] =0l Ak

22,620

400 ALE2X| &

401 A1 v 5 -ghv]
402 WIZHAH o] A
403 AH WA 5
405 A3 5]
406 7 EpxHizo] 21
407 #9140 4

o]

500 SAX &AL

82,000

38.8

74,000

33.3

77,000

31.0

10.8

6.5

501 A=

82,000

38.8

74,000

33.3

77,000

31.0

10.8

6.5

600 EMA

96,427

45.6

102,510

46.1

102,510

41.3

A5.9

AB5.9

601 Ao 41 43

96,427

45.6

102,510

46.1

102,510

41.3

AD5.9

ADB.9

700 LH £ 2

701 71€}3] ﬁ]ﬁ%
702 71 =

703 AHH = ‘*’ﬂ AdEs

705 dFade 5/

800 ofl5|H[ 7| E}

18,824

8.9

23,228

10.4

46,118

18.6

A19.0

AB9.2

801 dH]H]
802 RE&HH 7] e

18,824

8.9

23,228

10.4

46,118

18.6

N19.0

AND9.2






